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The figures in the margin indicate full marks
Jor the questions

1. Answer the following as directed : 1x10=10
FafeRewre FotrRm e f

(a) Truth or falsity is a property of
term/proposition/argument.
( Choose the correct answer )

T A SETORS! (LR % /36 /e o |
(o= Terhr At Tfrean )

(b) An argument has -one premise/two
premises/no fixed number of premises.
( Choose the correct answer )
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(2)

Qb ST B ST B AT/ LR I
qCT /G B CITCAT A7 R T |

( =% Teach! AR Sfenaa )

(c) Validity of an argument is concerned with
the form of an argument/content of an
argument/both form and content of the

argument.
( Choose the correct answer )

e Fgel Yo woRd e /e e
oS/ gfed SIeR wE RweE euE W
Ho |

(== Teach AR Sferear )

(d) State one point of difference between
deductive and inductive inference.

oA wF S S AeE < A
ey 91

(e) Give an example of particular negative
proposition.
b1 TR el To-1 TRl T |

(f) The figure of a syllogism is determined by

the position of the term.
( Fill in the blank )

o waiefey eome W wwe AR
FEI :

( 4 3% =R 3 )
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(3)

(g) BAROCO is a valid syllogism/immediate
inference/distributed term.
( Choose the correct answer )

BAROCO &bl {3 +IH/SM4y S /e
of% | '

( % Teqhr MR Sfenear )
(h) State any one general rule of a categorical
syllogism.

Bl f3eers e R @ @61 AgRe [y
TEy |

(i) 'What do the ideograms stand for?
qReTRS o & T 373 2

) Under what condition, an equivalent
function becomes true?

& 76 b1 TNLT Fo O W2

2. Answer briefly : 2x5=10
50 e T

(a) Define argument with example.

SrrzaepTE IR ge fean |
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(4)

(b) Reduce the following sentences into
proper logical propositions and mark them
as AE, 1, O:
To IR0 ETAS IoCe D] I S
A, E, I, O foccq fofes w1 :

(i) Al -students are not equally
intelligent.

aifoe IR ST e 7=y |

(ii) Virtuous alone are happy.

@ e seceE N |

(c) State any two rules of conversion.

oA [ e o1 e S 4 )

(d) Write two utilities of the uses of symbols.
28T IR o1 Terarirer o o

(e} Define logical constants with examples.

TIAPTZ S R gy )

3. Answer the following questions (any four) : 5x4=20
S e Ter i (R e wiften) -

(a) Explain the relation between the validity
or invalidity of an argument and truth or
falsehood of its premises and conclusion.

L& KO I WREOR TS SARRRR AF
rama e 31 STerer A= N 391 |
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(S)

(b) Write a short note on square of opposition
of proposition.

o R Fsfema o <1 5y it fo |

(c) Distinguish between figure and mood of
syllogism,

I TR = {87 s o1 Fefy 3941

(d) What is simple proposition according to
modern. classification of proposition?
Define each of the different forms of simple
proposition with example. 1+4=5

PR S NREEm PR w1
@A ? TREI o Rfew g
PRI ACOFC FHee T

(e) Symbolize the following propositions:  1x5=5
TS il IR ASIIF FTS ACHR :
(i) It is not that Hari is honest.
G2 e W @ TR

(ii) Either Rakesh is intelligent or he is
honest.
T I IR ww (o8 R |

{m) If you read attentively, then you will

succeed in the examination.

T B WA M (SR’ RS
T 21
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(6)

(iv) The weather is not good but Rita
goes for a walk.

o4 o =4 f$2 o2 FRIA I |

(v) It is false that the field is muddy and
wet.
G301 el (@ AR AR o o |

(f) 'What is categorical proposition? What are
the different types of categorical
proposition? Explain. , 1+4=5
ffRers 9 I Qe e v R[iew
sFerR & %, I 40
4. Answer the following questions : 10x4=40
e epraRe Teq f

(a)

24A/753

Define syllogism with example. Explain its
characteristics. 2+8=10

SrAPR, A e fran 1 Wi CaEpTER
1491 390

Or/ 71331

What is immediate inference? Explain
obversion with rules as a kind of immediate

inference. 2+4+4=10
HAY S PIF CQqMCe 7 S R CRICE «Rak
oieet fRamprz oifeads e =41 |
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(b)

(c)

(d)

24A/753

(7))

What is symbolic logic? Discuss the

characteristics of symbolic logic. 4+6=10
AT SHRBA I QAT ASRNE
SHRET CIFBPIR SICEs 31 |

Or/ %31
Discuss the relation between symbolic logic
and classical logic. 10
AT SEREW WE ARG SEREE
TS o4 HICABA 4 |

Define proposition according to modern
logic. Explain different types of compound
propositions with example. 2+8=10
e oIREm wpifR R oAen
e Rfdn ooy A IoPmz.
EEIN

Or/71331

What is truth-function? What are the basic
truth-functions? Explain each of them.
2+2+6=10

e Fol I QAT (e ToFerrR
&2 ofSTor Foreer MM 4 |

Construct truth table for any five of the
following  propositional forms and
determine whether it is tautology,
contradictory or contingent : 2%5=10
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(8)

wore i IEE WEEHR R R @
AR @ Ol MW A WE  CIRTR
wooe), FoA & wfE ITERME, R
41 .
(i) p>O(pvq)
(ii) (p-q)Dp
(iii) (p-q)-(pVvq)
(iv]) (pvq)-(~p-~q)
(v) ~[pD(pvq)]
(vi) p(~pVvq)
Or/7iz

What is indirect or shorter-truth table
method? Discuss the method of proving
validity or invalidity of argument by
shorter-truth table method. 10

AT N 5 AO-SIfe RS I @AA? Ty
Hej-Slferal “rmiod TZE & (34 A1 TIHe!
21 AROCH! I T |

* ok
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